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Series 1

Download Audio file: www.b2n.ir/LS-1

Download Answer file: www.b2n.ir/AS-1

1. What does the man mean?

1) The plane hasn't taken off yet

3) More flights will soon be scheduled.
2. What does the woman tell the man?
1) All of the books are cheap.

3) Half of the books should be returned
3. What does the woman mean?

1) It will probably rain today.

3) She'll play even if it rains.

4. What does the man mean?

1) Nearly all of the students can meet.
3) Only Lisa will be at the library.

S. What can be inferred about the man?
1) He walked so far that he was exhausted.

3) He encountered some wild animals in the woods.

6. What does Rob mean?
1) He intends to see Michelle.

3) He has to return some money to Michelle.

7. What does the man suggest?

1) Buying some red chairs.

3) Moving chairs from the auditorium.
8. What does the man tell the woman?
1) He can't read the sign.

3) He didn't sign his name.

9. What does the woman mean?

oligh (55l ¥ g 45 goono

2) The cost of flying has increased.

4) He hasn't changed his vacation plans.

2) None of the books is required.

4) Only four of the books are expensive.

2) She likes to watch the rain come down.

4) It has rained a lot lately.

2) The meeting time must be changed.

4) Lisa dropped the class on Friday.

2) He was wearing shorts on his hike.

4) He should get some comfortable hiking shoes.

2) Michelle may visit him anytime.

4) Michelle owes him some money.

2) Renting a bigger auditorium.

4) Getting more chairs.

2) He didn't make the sign.
4) He doesn't like the sign

1) Housing near campus is getting cheaper and cheaper.

2) She doesn't need to live close to campus.

3) It's not easy to find inexpensive housing near campus.

4) The man could find housing if he looked carefully.
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10. Where is the man probably going to go next?

1) To a game.

3) To get some groceries.

11. What is the problem?

1) The bucket has been broken.

3) They still need more money.

12. What is the woman's opinion of the waiter?

1) He is kind.

3) He is somewhat busy.

13. What does the man mean?

1) It's not surprising that Tony went fishing.

3) He doesn't think Tony is a good fisherman.
14. What does the woman tell the man?

1) Don't complete the form.

3) Take a form.

15. What does the woman say about Russell?
1) He is telling her the truth.

3) He has visited Seattle once.

16. What did Lily's parents do?

1) Disapproved of her plan.

3) Traveled overseas.

17. What does David imply about the music?
1) It should have been turned up.

3) It's extremely popular.

2) To buy tickets.
4) To a party.

2) The water was spilled.

4) They have run out of time

2) He is impolite.
4) She doesn't want to say.

2) He already knew Tony had caught only one fish
4) Tony usually catches a lot of fish.

2) Don't waste time.

4) There's no hurry

2) He's never been to Seattle.

4) She's only spoken to him once

2) Watered Lily's plants.
4) Caught colds.

2) The people across town enjoyed it

4) It was much too loud.

18. What does the man imply about the weekend?

1) It was quite relaxing.

3) It was unexpectedly busy.

19. What can be inferred from this conversation?

1) The lab is generally locked on Saturdays

2) The weather wasn't good.

4) It was perfectly planned.

2) The man doesn't have a key to the lab.

3) Something strange happened in the lab on Saturday. 4) The lab should never be locked.

20. What does the woman tell the man?

1) He needs the insurance no matter how much it costs.

2) There are other types of insurance he should buy.

3) The man doesn't have enough money to buy insurance.

4) The cost of insurance is becoming more reasonable.
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Series 1
Download Audio file: www.b2n.ir/LL-1
Download Answer file: www.b2n.ir/AL-1
1. Why does the student go to see the professor?
1) To discuss the latest trends in the photography shows.
2) To find out why some of her work was not selected for a show.
3) To discuss how to get her photographs exhibited.
4) To find out about a student photography show on campus.
2. According to the professor, what is the best way to create work that is likely to be chosen for a show?
1) By taking photographs that fit with current trends
2) By following one's own artistic views
3) By consulting experienced photographers
4) By learning what gallery owners are interested in
3. What does the professor imply about photography created outside of the classroom
1) It is usually technically stronger than work created for a class.
2) It tends to be more interesting than classwork.
3) It faces increased pressure to be trendy.
4) It is more likely to be exhibited than work created for a class.
4. According to the professor, what are two ways young photographers can market their work?
(1) Share examples of their work with others
(2) Hire a professional agent to sell their work
(3) Display their work in places other than gallery
(4) Ask a professor to recommend their work to gallery owners

1)2,3 2)1,3 3)2,5 41,4

Series 2

Download Audio file: www.b2n.ir/LL-2

Download Answer file: www.b2n.ir/AL-2

5. What is the lecture mainly about?

1) Recent fossil evidence connecting whales and the hippopotamus
2) Difficulties in determining the evolutionary history of whales

3) Similarities among ancient ancestors of whales

4) Similarities between whales and other modern-day animals
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Section 1: Vocabulary

1. The Amazon region has been called one of the last remaining .......... wildernesses on earth.
1) exaggerated 2) imperfect 3) deniable 4) unspoiled

2. Asfaras ’m .......... , I would be more than willing to give it a try.

1) related 2) regarded 3) concerned 4) connected

3. She had completely .......... what I was trying to say and took it as an insult.

1) misunderstood 2) supported 3) forgotten 4) misused

4. In the twentieth century, people's .......... of life has greatly increased.

1) expectation 2) evaluation 3) supposition 4) designation

5. My brother prefers .......... activities, like hiking and cycling, to staying at home.

1) remote 2) external 3) outside 4) outdoor

6. According to arecent...... ,36% of all women in Europe don’t feel safe walking home alone at night.
1) survey 2) context 3) probability 4) news

7. The bishops were soon active against those who refused to ....... to the doctrines of the Roman church.
1) encourage 2) divide 3) conform 4) play

8. I am eager to do what I can to help the children of our Province reach full ..........

1) ongoing 2) potential 3) intolerable 4) vital

9. The basic assumption of all societies is that public administrators are working to ................ the

general public's needs.

1) benefit 2) baftle 3) approval 4) myth

10. The .......... national consciousness became widespread and saved the country.

1) hazardous 2) asleep 3) ugly 4) distinct

11. Some companies are..... to invest in clean energy projects because they are unaware of the advantages.
1) ambiguous 2) ignorant 3) reluctant 4) inaccessible

12. Her younger sister died of a heart .......... 38 days after birth.

1) defect 2) trap 3) detection 4) scheme

13. To communicate accurately, students must understand the .......... differences between

similar words.

1) inferior 2) nimble 3) appealing 4) subtle

14. He should be pleased with of .......... the meeting because we’ve taken care of all his concerns.
1) interaction 2) outcome 3) exhibition 4) criterion

15. The company .......... her employment for testing positive for marijuana.

1) conflicted 2) accumulated 3) deduced 4) terminated
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16. According to the witness, the thief .......... broke into the woman’s car.

1) densely 2) allegedly 3) divergently 4) explicitly

17.1n ...... of her father's wishes, Corrine agreed not to sell the farmhouse after his death.

1) manipulation 2) quotation 3) pursuance 4) possession

18. After the storm .......... the school children were able to safely go home.

1) intensified 2) subsided 3) facilitated 4) heighten

19. The girls were .......... grateful to be able to use their computers again.

1) idly 2) influentially 3) hierarchically 4) exceedingly

20. The president requested $1.8 billion in emergency .... to fight an outbreak of the Zika virus.
1) medication 2) sanitation 3) funding 4) lighting

21. Property taxes continue to be the main source of .......... for local governments.

1) revenue 2) uncertainty 3) inspiration 4) contamination

22. In 1957, the Brazilian government hired a biologist to come up with a new .......... of honeybee

that didn't grow lazy in the hot weather.

1) distribution 2) breed 3) orientation 4) resource

23.If you have used .......... statistics in your report, you will have to start over from the beginning.
1) compatible 2) numerous 3) apparent 4) erroneous

24. He's a powerful speaker, and I was impressed by the .......... of his views on race and

democracy in America and Missouri.

1) cogency 2) procedure 3) scheme 4) utility
25. Sometimes there's not enough water to allow farmers to .......... their crops.
1) exploit 2) irrigate 3) assemble 4) harvest

26. Beyond nearly four million deaths, COVID-19 has also ... a profound economic crisis.

1) circulated 2) exaggerated 3) intrigued 4) precipitated

27. Recycling waste materials can limit the .......... of natural resources.

1) repetition 2) population 3) depletion 4) extortion

28. Some seeds stay .......... for years before getting what they need to grow.

1) dormant 2) attenuated 3) compatible 4) confidential

29. The complex puzzle .......... me for hours before I could connect all the pieces.

1) condensed 2) opposed 3) baffled 4) encouraged

30. As she tends to .......... things, I don't believe everything my niece tells me.

1) preserve 2) exaggerate 3) encircle 4) accelerate

31. About 820 million people are ...... because they don't have access to a healthy, nutritious diet.

1) ingenious 2) unwarranted 3) autonomous 4) undernourished
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1. By fostering independence in children, you will gain their affection and their respect.
1) frustrating 2) demystifying 3) encouraging 4) neglecting
2. In the field of artificial intelligence, scientists study methods for developing computer
programs that display aspects of intelligent behavior.
1) classify 2) exhibit 3) depend on 4) conform to
3. Instructive pictures are taken of the planet earth from satellites hovering above.
1) Frequent 2) Detailed 3) Delayed 4) Informative
4. The article alluded to the devastation in the countryside, caused by the wind storms.
1) referred to 2) forgot about 3) recounted 4) misrepresented
5. By Jaw, when one makes a large purchase, he must have an adequate opportunity to change his mind.
1) a gracious 2) an ample 3) a belated 4) an informal
6. The pilot changed direction abruptly, causing some panic ill the aircraft cabin.
1) intentionally 2) unwillingly 3) oddly 4) unexpectedly
7. Many effective treatments are used today to assuage arthritis symptoms.
1) roughen 2) confuse 3) relieve 4) silence
8. Excited about winning the award, Marcia walked up to the podium and delivered an animated
acceptance speech .
1) abbreviated 2) courteous 3) lively 4) reserved
9. The doctors were pleased that their theory had been fortified by the new research .
1) reinforced 2) altered 3) disputed 4) developed
10. The news about toxic waste dumping aroused the anger of many viewers of the news broadcast .
1) informed 2) appeased 3) provoked 4) deceived
11. Some experts believe that the functions of print media will be replaced by audio or visual media .
1) distribution 2) influences 3) roles 4) popularity
12. A central issue in probability is predicting the value of a future observation .
1) recording 2) interpreting 3) observing 4) foretelling
13. The modem world is inundated with competing propaganda and counterpropaganda .
1) balanced 2) sustained 3) overwhelmed 4) contaminated
14. Aside from simply being annoying, loud noises can permanently damage the ear .

1) unwelcome 2) bothersome 3) detected 4) intolerable
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15. The innovative use of iron and steel in construction represented an important advancement
in the building industry of the 1800s .

1) occasion 2) element 3) influence 4) improvement

16. The primary task of the kidney is to maintain the volume and composition of bodily fluids .
1) preserve 2) distribute 3) assimilate 4) condense

17. It's a good idea for married couples to discuss their plans in case of each other's demise .

1) death 2) desire to divorce  3) success 4) concern

18. The foolish defendant waived his right to an attorney and instead spoke for himself in court .

1) depended upon 2) wrote 3) greeted 4) gave up

19. Whenever the nurse came into the ward, the young man was there. His full attention was on
the dying man, and he was oblivious to her and the night noises of the hospital .

1) mindful 2) ridiculous 3) bothered 4) unaware

20. The young researcher was called upon to elucidate the disputed points in his article .

1) clarify 2) confuse 3) flare 4) baffle

21. The monarch enjoyed traveling through the town incognito and mingling with the populace.
1) in public 2) unkind

3) with identity concealed 4) revealed

22. The enormous rigid plates that make up the outer shell of the Earth continually move relative
to one another.

1) deep 2) ancient 3) dense 4) vast

23. The evolution of agriculture in the early years of the twentieth century was characterized by the
partial mechanization of the sowing and reaping processes .

1) created 2) enriched 3) accelerated 4) typified

24. A major shift in propulsion technology during the postwar period caused the world to adopt
jet propulsion as the power source for military and passenger aircraft .

1) expansion 2) advance 3) switch 4) discovery

25. American poet, James Merrily, received critical acclaim for his work entitled Jim's Book .
1) advice 2) disapproval 3) praise 4) attention

26. The banana is a gigantic herb that springs from an underground stem to form false trunks
up to 20 feet high .

1) an immense 2) a striking 3) an attractive 4) a plentiful

27. One remarkable form of communication among insects is the dance language of the honeybee.

1) outstanding 2) exceptional 3) mysterious 4) tangible
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Structure questions: Part 1

| P questions every woman should be able to answer yes to before they commit to a man.

1) The three 2) There are three 3) Three of the 4) That the three are

2. The study of aging has become important because the average age of the population ..........
1) is increasing 2) increases 3) has increasing 4) was increasing

3. Annie Jump Cannon .......... discovered so many stars that she was called "the census taker
of the sky."

1) a leading astronomer who 2) who, as a leading astronomer

3) was a leading astronomer 4), a leading astronomer,

4. All of the plants now raised on farms have been developed from plants .......... Wild.

1) once they grew  2) they grew once 3) that once grew 4) once grew

5. The greater the population in a locality, .... for water, transportation, and disposal of refuse.

1) the greater the need 2) greater need

3) is there great need 4) the great need

6. Those twins are practically ..........

1) as impossible told apart 2) impossible to tell apart

3) apart impossible than told 4) told apart impossible

7. How many of your classmates are still unemployed .......... they finished their studies?
1) since 2) for 3) when 4) from

. TN Might be regarded difficult by another.

1) what you find easy to do 2) What do you find easy to do

3) You find easy to do 4) Easy to do you find

9. At the end of the year, a good executive has to make sure that the goals ..........

1) have been accomplishing 2) have been accomplished

3) have accomplished 4) being accomplished

10. A positive finding may .......... several control subjects to eliminate false negative results.
1) requiring 2) require 3) requires 4) required

11. Neither Ali .......... his sisters are going to the party.

1) nor 2) or 3) as well 4) and

12. Quality learning is all the core of ..........

1) that makes a school good. 2) the good of a school is.

3) what makes a good school. 4) what a school makes good.
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13. 1 got this house .......... my job.

1) as the virtue at 2) so as virtue of 3) a virtue to 4) by virtue of

14. One of the officials of a foreign country announced that the goals of .......... had been
reached.

1) five-years plan 2) the five-year plan 3) the five-years plan 4) five-year plan

15. The longer the Sun shines, ..........

1) the earth is warmer 2) it makes the earth more warm

3) the more warmly is the earth 4) the warmer the earth is

16. Futurism, .......... early twentieth century movement in art, rejected all traditions and

attempted to glorify contemporary life by emphasizing the machine and motion.
1) was an 2) an 3) that it was 4) that an

17. Research into the dynamics of storms is directed toward improving the ability to predict

these events .......... to minimize damage and avoid loss of life.
1) and thus 2) so 3) however 4) because
18. Not only .......... people to send words, music, and codes to any part of the world, it can also

be used to communicate far into space.

1) enabled by radio ~ 2) radio enables 3) does radio enable  4) radio has enabled

19. Color and light, taken together .......... on the aesthetic impact of the interior of a building.
1) very powerful influence 2) very influence powerfully

3) powerfully very influence 4) influence powerfully very

20. Total color blindness, .......... , is the result of a defect in the retina.

1) a rare condition that 2) is a rare condition

3) that a rare condition 4) a rare condition

p) PR around us gives us vital information about our environment.

1) The sound are heard 2) That the hearing of sound

3) Hearing the sound 4) Whatever the sound are heard

22, ciiiinnnns irritating effect on humans, the use of phenol as a general antiseptic has been largely
discontinued.

1) Its 2) Where its 3) Since its 4) Because of its

23. Economic goods may take the form .......... of material things or of services.

1) either 2) because 3) as 4) or

24. Abstraction goes into the making of any work of art, .......... or not.

1) whether the artist being aware of it 2) the artist is being aware whether

3) whether the artist is aware of it 4) the artist is aware whether
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25 .The scholarly interest in perception stems largely from questions about the sources and

validity of what ..........

1) it is known as human knowledge 2) is known as human knowledge

3) known human knowledge 4) is human knowledge known

26. Manufacturing is Canada's most important economic activity, .......... 17 percent of the workforce.
1) engages 2) and to engage 3) that it engage 4) engaging

27. Tt is essential to determine whether the service connector used in your home is made of lead
.......... plastic

1) and 2) but 3) nor 4) or

28.1.......... if you had given me a heads up.

1) wouldn't embarrassed 2) won't been embarrassed

3) wouldn't have been embarrassed 4) wouldn't had been embarrassed

29 ciiiinns any further support, do not hesitate to call our help department.

1) Should you require 2) If require should you

3) Why should you require 4) You should require

30. We should have tried to prevent the accident ..........

1) from happening  2) through happening 3) happened 4) to happen

31. Some people argue that teachers should be paid at least .......... doctors and lawyers.

1) as much as 2) the same 3) higher than 4) more than

32. She is constantly brimming with anxiety but .......... the world know so.

1) never let 2) would never let  3) had never let 4) was never letting

R X RN colonial period, the great majority of Connecticut’s settlers came from England.
1) Since 2) The time 3) During the 4) It was

R 7 R theories approximate the truth is the day-to-day business of science.

1) Determining how closely 2) How closely to determine

3) How one determines close 4) One is close to determining

3S. Comparatively few clues in the United States have competing newspapers today, a major
change from 1900 .......... more than two newspapers.

1) because then most large cities having 2) when did most large cities have

3) then most large cities that had 4) when most large cities had

36. Social scientists believe that .......... from sounds such as grunts and barks made by early ancestors
of human beings.

1) the very slow development of language  2) language developed very slowly

3) language which, was very slow to develop 4) language, very slowly developing
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37. First designated in 1970, Earth Day has become an annual international event .......... concerns

about environmental issues such as pollution.

1) dedicated to raising 2) dedicated raising

3) dedicates to raise 4) that dedicates to raising

38. Beef cattle .......... of all livestock for economic growth in certain geographic regions.

1) the most are important 2) are the most important

3) the most important are 4) that are the most important

39. e of large mammals once dominated the North American prairies the American bison

and the pronghorn antelope.

1) There are two species 2) With two species
3) Two species are 4) Two species
40. George Washington Carver .......... international fame for revolutionizing agriculture research

in the southern United States during the early twentieth century.

1) won 2) winning 3) who has won 4) the winner of

41. The tulip tree is native to the eastern United States, .......... the tallest and largest broadleaf tree.
1) where 2) where it is 3) it is where 4) is where

42. Green plants combine .......... with water and carbon dioxide to make food.

1) energy derived from light 2) energy, derived it from light

3) energy is derived from light 4) from light, and energy derived

43. Compared to last year’s movies, ..........

1) this year we will see a wider variety of films screened at the festival.
2) The festival this year will include the screening of a wider variety of films.
3) The variety of this year's festival will depend of the wide variety of films screened.

4) films screened at the festival this year will be of a wider variety.

44. Had the plant been watered more regularly, it ..........

1) might survived 2) might have survived

3) may survive 4) might be surviving

45. In the Iranian tradition, .......... spring with which a new year begins.

1) the 2) it the 3) It has been the 4) as it was the
46. Before anyone could photograph the strange-looking bird, ..........

1) it was flying away 2) it has flown away

3) it flew away 4) it had been flying away
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Structure questions: part 2

1. Recently in the automobile industry, multinational companies have developed to the point where

such few cars can be described as having been made entirely in one country.
2. People can remember more information for higher periods when they use more than one sense in

the process of learning.
3. Brooklyn, New York, had a population of about 23,000 when it becomes a city in 1834.

4. During the 1600s, skilled shoemakers scarce were in what is now Canada.

5. Sociological studies have found that deeply hold values and principles are highly resistant to change.

6. Three fundamental aspects of forest conservation are the protection of immature tree, the use of

proper harvesting methods, and provide for an environment that supports reproduction

7. Caves are formed by the chemical or action mechanical of water on soluble rock, by volcanic

activity, and by earthquakes.

8. Lizards lack the built-in body temperature control many another creatures possess.

9. With her talent for business promotion, Kate Gleason expansion her family's small machine-tool
company into a major manufacturer of gear-cutting machinery.

10. The poetry of Gwendolyn Brooks demonstrates a major haracteristically of twentieth-century

writing the conflict between commitment to a social ideal and commitment to art.

11. Virtually all parts moving in an automobile need to be lubricated because ,without lubrication,
friction would increase power consumption and damage the parts

12. Studies by B.F. Skinner indicate that reward positively reinforces behavior and makes that
behavior likely more to recur.

13. Before issued its final report, the EPA will confer with the people who live near the site in order

to determine what the social impact might be.

14. The earliest automobiles were started with a crank that the driver has to turn manually before

getting into the driver's seat.
15. The purposeful of elementary school is to introduce children to the skills information and
attitudes necessary for a smooth adjustment to society.

16. Few theories are originality enough to be called unique.

17. Despite resistance in some parts of Canada, the conversion to metric measurement have been
said to be largely successful.
18. Chied Joseph La Flesche, a vigorous Omaha leader, worked hardly to make his nation a proud

and progressive one.
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19. By 1810, the 23 towns of Hampshire County, Massachusetts, had reached a remarkable uniform
of economic development as well as population density.

20. Ella Baker spent her adult life working for social change by lecturing, writing, teacher, and
organizing adult literacy programs.

21. There were a great much jokes about how the team has lost the game and how the supporters

had reacted.

22. Those air freshener products come in several different scents for use in cars, at home, and work.
23. When the market open up to international players, competition gets fierce.

24. The surface conditions on the planet Mars are the more like the Earth's than are those of any
other planets in the solar system.

25. The midnight sun is a phenomenon in which the Sun yisible remains in the sky for twenty-four

hours or longer.

26. Nuclear energy, despite its early promise as a source of electrical power, is still insignificant in

compared with older and safer energy sources.

27. As her focus changed, the love poetry that Edna St. Vincent Millay produced in the 1920's
increasing gave way to poetry dealing with social injustice.

28. Being the biggest expanse of brackish water in the world, the Baltic Sea is of special interesting
to scientists.

29. The General Accounting Office reviews the accounting systems used by federal agencies to

determination whether expenditures conform to laws, and it also settles claims.

30. Critical thinkers are able to identify main issues, recognize underlying assumptions, and
evaluating evidence.

31. The outermost part of the Sun's atmosphere is very hot that its gases continually expand away
from the Sun.

32. Although Christopher Columbus failed in his original goal, the discoveries he did make were as
important than the route to Asia he expected to find.

33. In the United States, the federal government is responsible to regulating the working conditions
in factories.

34. In some areas of the United States, unfavorable climate or soil make farming an impossible task.

35. For more eighty years, scientists have argued over whether life exists on the planet Mars.

36. Industry’s need for more and minerals is a constant challenge to the mining industry to make

new discoveries.

37. The United States government program "Head Start" prepares children for school encourages

the involvement of local communities in the children's development.
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38. Virtually, all parts moving of an automobile need to be lubricated because, without lubrication,

friction would increase power consumption and damage the parts.

39. Rarely has a technological development had as great an impact on society as the rapid grow of electronics.
40. Fuel is any substance or material that reacts chemically with another substance or material to produce hot.
41. The major economic activities of Cheyenne, Wyoming, include transportation, chemicals,
tourism, but governmental activities.

42. Being self-assured and confident in one abilities is crucial to healthy self - esteem.

43. Every book you read offers you endless opportunities of explore and learning new ideas.

44. The fact that earth rotates was not known until the 1850s.

45. The unit of measurement known as a "foot" has originally based on the average size of the human foot.
46. The term "technology" refers to the discoveries and inventions that help people improve its way of life.
47. Soil science begun with the formulation of the theory of humus in 1808.

48. The National Education Association conducts extensively research on a great many aspects of education.

49. If a_atom loses any of its electrons, it becomes positively charged and can combine chemically
with other atoms.

50. Sociological studies have found that deeply hold values and principles are highly resistant to change.

51. Three fundamental aspects of forest conservation are the protection of immature tree, the use of

proper harvesting methods, and provide for an environment that supports reproduction

52. Caves are formed by the chemical or action mechanical of water on soluble rock, by volcanic

activity, and by earthquakes.

53. Lizards lack the built-in body temperature control many another creatures possess.

54. With her talent for business promotion, Kate Gleason expansion her family's small machine-tool
company into a major manufacturer of gear-cutting machinery.

55. The poetry of Gwendolyn Brooks demonstrates a major haracteristically of twentieth-century

writing the conflict between commitment to a social ideal and commitment to art.

56. Virtually all parts moving in an automobile need to be lubricated because ,without lubrication,
friction would increase power consumption and damage the parts

57. Studies by B.F. Skinner indicate that reward positively reinforces behavior and makes that
behavior likely more to recur.

58. Before issued its final report, the EPA will confer with the people who live near the site in order

to determine what the social impact might be.

59. The earliest automobiles were started with a crank that the driver has to turn manually before

getting into the driver's seat.
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60. The purposeful of elementary school is to_introduce children to the skills information and
attitudes necessary for a smooth adjustment to society.

61. Few theories are originality enough to be called unique.

62. Despite resistance in some parts of Canada, the conversion to metric measurement have been
said to be largely successful.

63. Chied Joseph La Flesche, a vigorous Omaha leader, worked hardly to make his nation a proud
and progressive one.

64. By 1810, the 23 towns of Hampshire County, Massachusetts, had reached a remarkable uniform
of economic development as well as population density.

65. Ella Baker spent her adult life working for social change by lecturing, writing, teacher, and
organizing adult literacy programs.

66. Most people learn the basics of communication, among the first 15-20 years of their lives.

67. It is most unlike that this process or improvement will not genuine in the future.

68. In the process of photosynthesis, green plants absorbing carbon dioxide in the manufacture of food.

69. While I was sick and couldn't leave the dorm, I got my friend go to the library for me and pick up
the books I needed.

70. An organization benefits greatly when its interest group persuades government to allow it to

regulate themselves.

71. The company continues to search for expansion opportunities, domestic and overseas.

72. Interviews may be more useful surveys to examine attitudes toward a phenomenon.

73. Despite the law, people continue to use mobile phones in driving.

74. We feel it is necessary that the data is subject to independent third-party review.

75. The King called one of the wisest scholar in Egypt and asked him what the word meant.

76. Beethoven was handicapped by deafness so he wrote some of the world's best music.

77. There are six basic parameters that determine whether an environment is suitably for life as we

know it are temperature, water availability, and oxygen content.

78. Realistic novel, in trying to present life as it actually is, have written many works that are notable
for their artistry of style.

79. Pop Art was a movement of the 1950's and 1960's whom imagery based on readily recognized
American products and people.

80. A conductor uses signals and gesture to let the musicians to know when to play various parts of

a composition.

81. It was near end of prehistoric times that the first wheeled vehicles appeared.
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Section 4: Comprehension

Reading 1:

Researchers in the field of psychology have found that one of the best ways to make an important
decision, such as choosing a university to attend or a business to invest in, involves the utilization of a
decision worksheet. Psychologists who study optimization compare the actual decisions made by people
to theoretical ideal decisions to see how similar they are. Proponents of the worksheet procedure believe
that it will yield optimal, that is, the best decisions. Although there are several variations on the exact
format that worksheets can take, they are all similar in their essential aspects. Worksheets require
defining the problem in a clear and concise way and then listing all possible solutions to the problem.
Next, the pertinent considerations that will be affected by each decision are listed, and the relative
importance of each consideration or consequence is determined. Each consideration is assigned a
numerical value to reflect its relative importance. A decision is mathematically calculated by adding
these values together. The alternative with the highest number of points emerges as the best decision.

Since most important problems are multifaceted, there are several alternatives to choose from,
each with unique advantages and disadvantages. One of the benefits of a pencil and paper
decision-making procedure is that it permits people to deal with more variables than their minds can
generally comprehend and remember. On average, people can keep about seven ideas in their minds
at once. A worksheet can be especially useful when the decision involves a large number of variables
with complex relationships. A realistic example for many college students is the question, "What will
I do after graduation?" A graduate might seek a position that offers specialized training, pursue an
advanced degree, or travel abroad for a year.

A decision-making worksheet begins with a succinct statement of the problem that will also help
to narrow it. It is important to be clear about the distinction between long-range and immediate goals
because long-range goals often involve a different decision than short-range ones. Focusing on long-
range goals, a graduating student might revise the question above to "What will I do after graduation

that will lead to a successful career?"
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1. What does the passage mainly discuss?

1) A tool to assist in making complex decisions.

2) A comparison of actual decisions and ideal decisions
3) Research on how people make decisions

4) Differences between long-range and short-range decision making

2. The word "essential" in line 6 is closest in meaning to ..........

1) introductory 2) changeable 3) beneficial 4) fundamental
3. The word "pertinent" in line 7 is closest in meaning to ..........

1) relevant 2) preceding 3) insightful 4) responsive

4. According to decision-worksheet theory, an optimal decision is defined as one that ....
1) has the fewest variables to consider

2) uses the most decision worksheets

3) has the most points assigned to it

4) 1s agreed to by the greatest number of people

5. The author develops the discussion in paragraph 1 by means of ..........
1) describing a process 2) classifying types of worksheets
3) providing historical background 4) explaining a theory

6. The author states that ""On the average, people can keep about seven ideas in their minds at
once to explain that

1) most decisions involve seven steps

2) human mental capacity has limitations

3) some people have difficulty making minor as well as major decisions

4) people can learn to keep more than seven ideas in their minds with practice

7. The word "succinct "in paragraph 3 is closest in meaning to ..........

1) creative 2) satisfactory 3) personal 4) concise

8. Which of the following terms is defined in the passage?

1) Proponents 2) Optimal 3) Variables 4) Long-range goals
9. The word "it" in paragraph 3 refers to ..........

1) worksheet 2) problem 3) distinction 4) decision

10. The word "revise" in paragraph 3 is closest in meaning to ..........

1) ask 2) explain 3) change 4) predict
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Reading 2:

According to sociologists, there are several different ways in which a person may become recognized
as the leader of a social group in the United States. In the family, traditional cultural patterns confer
leadership on one or both of the parents. In other cases, such as friendship groups, one or more persons
may gradually emerge as leaders, although there is no formal process of selection. In larger groups, leaders
are usually chosen formally through election or recruitment.

Although leaders are often thought to be people with unusual personal abilities, decades of research

have failed to produce consistent evidence that there is any category of "natural leaders." It seems that

there is no set of personal qualities that all leaders have in common; rather, virtually any person may be
recognized as a leader if the person has qualities that meet the needs of that particular group.

Furthermore, although it is commonly supposed that social groups have a single leader, research
suggests that there are typically two different leadership roles that are held by different individuals.
Instrumental leadership is leadership that emphasizes the completion of tasks by a social group. Group
members look to instrumental leaders to "get things done." Expressive leadership, on the other hand, is
leadership that emphasizes the collective well-being of a social group's members. Expressive leaders are
less concerned with the overall goals of the group than with providing emotional support to group members
and attempting to minimize tension and conflict among them. Group members expect expressive leaders
to maintain stable relationships within the group and provide support to individual members.

Instrumental leaders are likely to have a rather secondary relationship with other group

members. They give orders and may discipline group members who inhibit the attainment of the
group's goals. Expressive leaders cultivate a more personal or primary relationship with others in the
group. They offer sympathy when someone experiences difficulties or is subjected to discipline, are
quick to lighten a serious moment with humor, and try to resolve issues that threaten to divide the
group. As the differences in these two roles suggest, expressive leaders generally receive more personal
affection from group members; instrumental leaders, if they are successful in promoting group goals,

may enjoy more distant respect.
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1. What does the passage mainly discuss?

1) The problems faced by leaders

2) How leadership differs in small and large groups
3) How social groups determine who will lead them
4) The role of leaders in social groups

2. The passage mentions all of the following ways by which people can become leaders EXCEPT .......

1) recruitment 2) formal election process
3) specific leadership training 4) traditional cultural patterns
3. In mentioning "natural leaders" in line 6, the author is making the point that ..........

1) few people qualify as "natural leaders"

2) there is no proof that "natural leaders" exist

3) natural leaders are casily accepted by the members of a social group

4) natural leaders" share a similar set of characteristics

4. Which of the following statements about leadership can be inferred from paragraph 2?
1) A person who is an effective leader of a particular group may not be an effective leader in another
group.

2) Few people succeed in sharing a leadership role with another person.

3) A person can best learn how to be an effective leader by studying research on leadership.
4) Most people desire to be leaders but can produce little evidence of their qualifications.

5. The passage indicates that instrumental leaders generally focus on ..........

1) ensuring harmonious relationships

2) sharing responsibility with group members

3) identifying new leaders

4) achieving a goal

6. The word "collective" in Paragraph 3 is closest in meaning to ..........
1) necessary 2) typical 3) group 4) particular
7. The word "them" in Paragraph 3 refers to ..........

1) expressive leaders 2) goals of the group 3) group members  4) tension and conflict

8. A "secondary relationship' mentioned in Paragraph 4 between a leader and the members of

a group could best be characterized as ..........

1) distant 2) enthusiastic 3) unreliable 4) personal

9. The word "resolve" in Paragraph 3 is closest in meaning to ..........

1) avoid repeating 2) talk about

3) avoid thinking about 4) find a solution for

10. Paragraphs 3 and 4 organize the discussion of leadership primarily in terms of ..........
1) examples that illustrate a problem 2) cause and effect analysis

3) narration of events 4) comparison and contrast
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Reading 3

The history of clinical nutrition, or the study of the relationship between health and how the body
takes in and utilizes food substances, can be divided into four distinct eras: the first began in the
nineteenth century and extended into the early twentieth century when it was recognized for the first
time that food contained constituents that were essential for human function and that different foods
provided different amounts of these essential agents. Near the end of this era, research studies
demonstrated that rapid weight loss was associated with nitrogen imbalance and could only be rectified
by providing adequate dietary protein associated with certain foods.

The second era was initiated in the early decades of the twentieth century and might be called
"the vitamin period." Vitamins came to be recognized in foods, and deficiency syndromes were
described. As vitamins became recognized as essential food constituents necessary for health, it
became tempting to suggest that every disease and condition for which there had been no previous
effective treatment might be responsive to vitamin therapy. At that point in time, medical schools
started to become more interested in having their curricula integrate nutritional concepts into the basic
sciences. Much of the focus of this education was on the recognition of vitamin deficiency symptoms.
Herein lay the beginning of what ultimately turned from ignorance to denial of the value of nutritional
therapies in medicine. Reckless claims were made for the effects of vitamins that went far beyond
what could actually be achieved from the use of them.

In the third era of nutritional history in the early 19S0's to mid-1960s, vitamin therapy began to

fall into disrepute. Concomitant with this, nutrition education in medical schools also became less

popular. It was just a decade before this that many drug companies had found their vitamin sales
skyrocketing and were quick to supply practicing physicians with generous samples of vitamins and
literature extolling the virtue of supplementation for a variety of health-related conditions. Expectations
as to the success of vitamins in disease control were exaggerated. As is known in retrospect, vitamin and
mineral therapies are much less effective when applied to health-crisis conditions than when applied to

long-term problems of undernutrition that lead to chronic health problems.
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1. What does the passage mainly discuss?

1) The effects of vitamins on the human body

2) The history of food preferences from the nineteenth century to the present

3) The stages of development of clinical nutrition as a field of study

4) Nutritional practices of the nineteenth century

2. It can be inferred from the passage that which of the following discoveries was made during
the first era in the history of nutrition?

1) Protein was recognized as an essential component of diet.

2) Vitamins were synthesized from foods.

3) Effective techniques of weight loss were determined.

4) Certain foods were found to be harmful to good health.

3. The word "tempting" in paragraph 2 is closest in meaning to ..........
1) necessary 2) attractive 3) realistic 4) correct

4. It can be inferred from the passage that medical schools began to teach concepts of nutrition
in order to ..........

1) convince medical doctors to participate in research studies on nutrition

2) encourage medical doctors to apply concepts of nutrition in the treatment of disease

3) convince doctors to conduct experimental vitamin therapies on their patients

4) support the creation of artificial vitamins

5. The word "Reckless" in paragraph 2 is closest in meaning to ..........

1) recorded 2) irresponsible 3) informative 4) urgent
6. The word 'them" in paragraph 2 refers to ..........

1) therapies 2) claims 3) effects 4) vitamins
7. Why did vitamin therapy begin losing favor in the 1950's ..........

1) The public lost interest in vitamins.
2) Medical schools stopped teaching nutritional concepts.
3) Nutritional research was of poor quality

4) Claims for the effectiveness of vitamin therapy were seen to be exaggerated.

8. The phrase "concomitant with" in paragraph 3 is closest in meaning to ..........
1) in conjunction with 2) prior to 3) in dispute with 4) in regard to

9. The word "skyrocketing" in paragraph 3 is closest in meaning to ..........

1) internationally popular 2) increasing rapidly

3) acceptable 4) surprising

10. The word "extolling" in paragraph 3 is closest in meaning to ..........

1) analyzing 2) questioning 3) praising 4) promising
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